4015

Register
Number

Language — Part B — ENGLISH — Paper I

Time Allowed : 2% Hours ] [ Maximum Marks : 100

N.B. :

i)  Answer all the questions in the answer-book given separately.

ii) Read the questions carefully and try to understand them fully before .
answering them.

iiij Write down the question numbers correctly in the margin in your
 answer-book. ' '

SECTION - A
( Prose )

Answer any five of the following questions in about three lineseach: 5x3 =135
1. Whois Sachin compared to ? Why ?

Wa_s there any change in Jean Valjean'’s attitude when he left- the Bishop ?
Describe Sambu. | |

Which is the best time to start travel by car ?

What sort of physical exercise did he indulge in ?

What is Tom's attitude towards Margie ? -

What kind of person was the Bishop ? -

® N O o s w N

Give a few examples for mass communication.
Answer any one of the following questions in a paragraph of about ten lines :

I x5=5
1. Between 1990 and 2002, Sachin achieved a lot. Briefly describe each event.

2. Compare the three modes of travel and highlight the advantages of each
type. :
3. Describe any two qualities' of Gandhi.
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Il. Answer any one of the following in about twenty lines : '

£

2

1x10=10

Describe how serendipity helped Sambu to resolve both the cases in
London.

What do you know about Margie's school and the old schools ?

How can a personal computer become a friend to man of today ?

Choose the correct synonyms for the italicized words from the given

options :

1.

He fed on filth for ninteen years.

a) bread
b) dirty food
c) fish

Your body will float on the Thames.

- a) drag
b) swim
c) jump.

. The jbumey can be wonderfully exciting.

a) interesting

b) boring

c) educating.

Even today most of us are enamoured by video jockeys.
a) attracted .

b) hated

¢) honoured.

The learning capacity unique to man is also mfuse&
computers. g

a) instilled
b) mixed

¢) confused.

hxl =5

into the



B)

C)

3 ' \ 4015

Choose the correct antonyms for the italicized words from the given
options : 5x1=5

1.

I have for a long time wrongfully withheld this silver.
a) stof:ped £y

b) released

c) retained.

Were those kids bunking school to frolic in that river ?
a) children '

b) babies

c) adult_s. |

Yet the incident did not in the least diminish my respect for my
teacher. :

a) reduce
b) deduce
c) increase.

‘May be’ he said noichalantly.

a) slowly

b) carelessly

c) eagefly.

Initially, computers were huge and unwieldy.
a) large

b) portable

c¢) useful.

Form new words from the root words listed below using the'given ‘prefixes’
or ‘suffixes’ : 5x1=56

1.

AT R

part

head
cardio
neighbour
scorn

( gram, a, be, ful, hood, sub )
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D) Expand any three of the following abbreviations : . 8x1=3
1. TNEA |
2. Ice
3. MCC
4. NASA
E) Complete the following : 5x1=5
Country People
1. Greece : R T
2. Scotland e i i
3-. Korea 1§ et et (S '
4. Russia i i
5. Japan N e e
F) Complete the box shown below : | | 2x1=2
| British English | American English
Programme
license
SECTION - B
( Poetry )
V. A) Quote from your memory : ) 6+4=10

1. “The Tables Turned” — 6 lines
From: “Up!up!.ciiiiiiiiiiicienee, :
ol A e esvans and linnet.

2. “Honest Thought and Simple Truth” — 4 lines.
From : “Whose passions ........cccoceeveeininine

Tor s i s e e e vulgar breath;



5

B) Answer any four of the following as asked : '

1.

“The broader wicket opposite was cleared at 6-00 P.M.”

a) When was the wicket cleared ?

b) Where was the game played ?

“A stranger came one night to Yussouf's tent,

saying, Behold one outcast and in dread”
a) What kind of man was the -strélnger 7
b) - Why was he in dread ?

“Once I taught you Geography; Now

I am retired, though my health is good.
a) Who do T’ and ‘you’ i'efer to ?

b) What subject did he teach ?

“Then took the other, as just as fair

'And having perhaps the better claim”

a) What does the ‘other’ refer tc ?
b) What is meant by ‘better claim’ ?
“How happy is he born and taught,
That serveth not another’s will’ |

a) Who is a happy man ?

b) What is meant by ‘will’ ?

“She has a world of ready Weéltll
Our minds and hearts to bless”

a) Who does ‘she’ refer-to 24

b) What do ‘minds’ and ‘hearts’ stand for ?

4015

4x2=8-
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C) Explain with reference to the context any three of the following : 3 x4 =12

VL. A)

1.

“First-born, for whom by day and night I yearn,

Balanced and just are all of God’s decrees.”

“And both that morning equally lay

In leaves no step had trodden black.”

“So neatly pl'anned. that if you merely tap it

The armaments will start their devastations.”

“Who hath his life from rumours freed

Whose conscience is his strong retreat.”

“Enough of science and of art

Close up those barren leaves.”

SECTION -C

( Other Competencies )

Match the following websites with the relevant information given : 5x1=5

Website

‘www.anna.uni.com

www.salemsteel.com

WWW. generalhospital.com

www.sslcresults.com

www.tntourismdept.com

a)

b)

c)

d)

e)

Information

about GH in Chennai

" about tourism in T.N.

about Anna University in Chennai
about the Steel company in Salem

about S.S.L.C. result.
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Assume yourself as Sethu residing at Door No 3, Silver Street, Villupuram Fill in

the application form given below - sccktng admission into Std. XI,

............... Government Hr. Sec. School, .....c..cceeen. =5

APPLICATION FOR ADMISSION

1. Name of the applicant in full as
given in the School Leaving
Certificate / Transfer certificate

Date of Birth & Age

Sex

Father’s Name & Occupéltion
Mother's Name & Address
Total marks obtained in Std. X
Month and Year of appearance

School last studied

© ® N B O s N

Mother Tongue
Medium of Instruction

Pt e
(=)

Course of study selected
Part]  : Tamil / Hindi / French
: Partl : English '
12. Choice of Group under Part III
{ Tick the relevant group )
(A) Maths, Physics, Chemistry, Biology
(B) Maths, Physics, Chemistry, Computer Science
(C) Business Maths, Commerce, Accountanby. Economics.

13. Reason for choosing the school
Signature of the applicant

Station : :
Date : e : Signat{u'e of the parent

[ Turn over
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C) Write a report about your favourite TV p_fogramme. ‘Use the following

hints : : 5x1=5
Name of the programme

Channel

Date and time of felecaé.t

Person featured in the programme

Special features

Your impressions
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Register
Number

Language — Part B — ENGLISH — Paper II

Time Allowed : 2% Hours ] [ Maximum Marks : 100

N.B. :

i)  Answer all the questions in the answer-book given separately.
ii) Read and understand each question carefully before answering them.

iii)y Write down the question numbers correctly on the margin and write your
answers against them.

SECTION - A
( Reading )
a) 1) Choose the best reéponses to complete the following statements :
5x1=5
1. Prime Minister Nehru was succeeded by
a) Indira Gandhi b) Rajiv Gandhi
c) K. Kamaraj d) Lal Bahadur Sastri.
2. In 1909, Helen Keller joined the
a) Socialist party ‘'b) Communist party
c) Republican party - d) Democratic party.
3. Sarojini was only ............... when she passed the Matriculation
examination.
a) fifteen b) twenty
c) twelve d) nineteen.
4. Dr. Muthulakshmi specialised in the treatment of
a) leprosy b) cancer
c) i AIDS d) tuberculosis.
5. While Joan was burning at the stakes, the soldiers said that they
had burnt a '
a) saint b) soldier
c) patriot d) princess.

[ Turn over
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ﬁ] State whether the following sentences are true or false : 5x1=5
6. Anne Sullivan was a successful teacher.
7. Indira Gandhi brought discipline during emergency.

8. In 1990, Suu Kyi's party lost in the elections held by the military
junta.

9. Dr. Muthulakshmi started the Avvai Home in Mylapore in 1930.
10. Joan of Arc was killed in a battle.

b) Read the given passage and list out the linkers used therein : 5x1=5
Stars actually shine with a steady glow as the sun does but they seem

to twinkle when we look at them because the light from stars gets bent

several times by layers of moving air. If you see them from outer space, they

would not twinkle.
SECTION - B
( Writing )
II. - a) Make notes of the following passage : 5

Mrs. Indira Gandhi's tenure as the Prime Minister was momentous in
the history of modern India. In 1969, she nationalised the banks which
were in private hands. People welcomed the measure. It was followed by
the abolition of privy purse which the formgr rulers of small kingdoms of

British Raj in India were enjoying.

In 1970-71, Indira Gandhi had to tackle the refugee problem. Over ten
million people crossed the India-Pakistan Border in Bengal and came to
India, and they had to be fed and given shelter by the Indian government.
The reason for the influx of refugees was the reign of terror let loose by
Pakistan on the people of East Pakistan. |

And Pakistan declared war on India. Indira moved with surgical
precision and the war lasted just fourteen days. When around a lakh of
Pakistani soldiers in East Pakistan surrendergd she ordered an immediate
unilateral ceasefire ! The refugees went back to their new country

“Bénglaclesh".



b)

c)

d)

e)

3 4016

Rewrite the statements in meaningful cogeht order : 6 x % =3
1. His wife was very upset with his attitude.

2. He was an aweful spendthrift.

3. He calculated even the amount of food he ate.

4. One day he shocked everyone by giving away half of his kingdom to a

gambler..
5. Once there was a king, who was a miser.
6. But he had a son, who compensated for this.

Develop the hints into a readable passage. Give it a suitable title : 5

An ant — falls into river — finds a twig — holds on to it — calis for
help — a dove picks twig — places it safely oﬁ land — ant thanks dove — a
hunter aims at dove — about to shoot — ant bites his leg — arrow misses
target — dove escapes.

Write any one of the following letters : 1x8=8

1. You are applying for the post of a clerk in a company. Write a letter to
the Headmaster of the school you had studied requesting his
testimonial.

2. Write a letter to the postmaster of your area complaining about the
non-receipt of a parcel sent to you.
3. Write a letter to your friend requesting him to lend you his camera for

a few days.

( Important : Write XXX for your name and YYY for your address )

Complete the dialogue : 4

( The dialogue is between two friends )

Suresh S h e R o s e s ?

Ramesh : I bought this watch in the Titan showroom.

Suresh o e R oy e ok s e i

Ramesh . It costs nine hundred rupees.

Suresh SO S e i R S e e 7

Ramesh : The guarantee period is for two years.
...................................................... ?

Suresh : Yes, I want to buy one for myself.

[ Turn over
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III.

g

a)

b)

4
Write a précis of the following passage : 5

Charity no doubt means giving alms to people; but “charity begins at
home” does not mean that you must give alms first to the members of your
family and charity is not simply giving money or clothes to the needy and
deserving. It is a mental attitude. Kindness, love, help, sympathy all go to
make it and giving alms or rendering assistance is only its outer

nianifestation.

A man who cannot meet his own personal demands will remain in
want and a man who is always in want has no time to think of the needs of
other people. Therefore before you think of helping others, you must not at
least, experience a sense of want in your mind, otherwise, whenever yoﬁ

think of helping others, you think it is a sacrifice on your part.

There are people who can sacrifice in spite of their need. There are
people who have sacrificed even their lives for the sake of others, for their

motherland or for the principles they hold dear.
Punctuate the following sentence : ' 3

margie said i wouldnt want a strange man in my house to teach me

SECTION-C

"( Grammar )
Fill in the blanks in the given passage with suitable articles : 4 x % =2
THornd ...ccccooviiiseniviiisrninnes ONE TUPECE COIN OFF iiivsvsvimymmiminiiinauiiviavis road. I
gave il el EOHIEO. it siation evvisies old beggar.

Fill in the blanks choosing the right phrase prepositions from the list given
below. There is an additional phrase : - 3x1=3

{ on account of, in memory of, by means of, on behalf of )
1. Shah Jahan built the Taj Mahal..........ccc.ooevviniiiannnnes his wife.

2kl apolbgized 000 2 8 e i B AT A my friends. |

3. We delayed our departure ........cccoeeveveeecaenecnnnns bad weather.



c)

d).

e)

g

5 4016

Rewrite the following passage, filling in the blanks with correct tense forms

of the verbs given in the brackets : ' 4x1=4
Mr. Mohan ......ocoeseviee. (work ) in our factory since 1975. He

S e i e (join ) our factory as a supervisor. Now he .............. o { be )

the factory manager. He ..... { retire ) next month. :

Match the clauses in Column A with those in Column B : 3x1=3

Column A Column B
1. If you help others a) you would have helped me
2. IfI had asked you b) you would be sent out

3. If you copied in the exam. hall c) you will be helped
' d) you will get good marks.

Italicized words are the answers. Frame questions for them using the clues
given'in the brackets : 2x1=2

1. Iam sixteen. ( How old )
2. The railway station is two kilometres from here. ( How far )
Combine the following sentences using relative pronouns : 4x1l=4
1. Isaw a man.

He had a wooden leg.
2. This is the book.

I wanted to read it.
3. This is the place.

We meet here often.
4. 1like Sujatha.

His novels are very interesting.
Identify the pattern of the following sentences : 2x1=2
1.  Man is mortal.
2. The cow gives us milk.

OR

Write the sentences for the following sentence patterns :
1. S+V+A
2. S+V+0O+A

[ Turn over
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h) Read the following dialogue and fill in the blanks with suitable modal
auxiliary verbs : . 6 x % =3

( The dialogue is between two friends )

Uma L e you play the violin ?

Rama - Yes, I play the violin even when I was twelve.

Uma . P Hice to practise the violin.

Rama : That's good. You ............. practise regularly. You ....... s

be able to pick up quickly.
Uma 0 you please help me to buy a good violin ?
Rama : Oh, sure.

)  Fill in the blanks by choosing the right phrasal verbs given below :

( ;out off, hit on, .got over, look up to, looked into, put uﬁ with ) 6 x % =3
1. Young cricketers always ..........ccoceuunnnn Sachin.

2. They...................... the match.

8 = Meantt s 0 S TR such a noisy class.

4. He ..o a brilliant idea.

5. Shesn. o0 v her grief.

6. The officer ....... 1 SAIE 91 the matter.
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a)
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Rewrite any eight of the following sentences as directed: 8x2= 16

1.

The teacher said to Mohan, “Why were you absent to school

yesterday ?” ( Into Indirect speech )
5 Sita told Rama that she would come with him to the forests.
( Into Direct speech )
3. Who broke the window panes ? ~ ( Into Passive voice )
4. The results will be publiéhed tomarrow. ( Into Active voice )
5. Iron is more useful than any other metal. ( Into Positive degree )
6. Very few rivers in the wbrld are as sacred as the Ganga.
( Into Super!ativé degree )
7. Diamond is one of the hardest substances in the world.
( Into Comparative degree )
8. You must work hard or you will fail. ( Into Complex sentence )
9. In spite of his poverty he is happy. '~ (Into Compound sentence )
i 10. We eat so that we may live. ( Into Simple sentence )
SECTION-D
( Translation )
Translate the following proverbs into your first language :  Bxl=5
1. Empty vessels make the loudest noise.
2.  All that glitters is not gold.
3. The child is the father of the man.
4. A bad workman blames his tools.
5. Too much of anything is good for nothing.

[ Turn over
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b) Translate the following passage into your first language : 5

Health is more valuable than wealth. If wealth is lost, one can earn it.
But it is very difficult to regain the health lost. We must keep our
surroundings clean. If everyone follows the rules of hygiene and sanitation,

people will be free from diseases.
OR
( For Deaf Candidates Only }

Read the following passage carefully and answer the questions given below :
: : 5x2=10

Once a prisoner was set free. He went to the market. He bought some birds

in cages. He set them all free. He knew the value of liberty. He went home
happily.
Questions :
1. What did the man bﬁy in the market ?
2. Where had the man been recently ?
3. '.Did the man kill the birds ?
4. Choose the right word from the words given in brackets.
The man loved ............... . ~ (slavery / freedom )

5. Rewrite the answer completing it with the opposite of the italicized word :

The man bought some birds.
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Register
Number

Language - Part A — FRENCH — Paper I

 ( Prescribed Text )
Time Allowed : 2} Hours ] [ Maximum Marks : 100
I. a Choisissez la meilleure reponse : | _ 10
1. La baguette est une sorte de ....... s ex s s e e s . ( pain / gateau)
2. Le coiffeur coupe les cheveux avec .........cccoeevveeeernenne. ;
; . [ le rasoir / les ciseaux)
3. Leplgeon ......c.cccoimeinnvons : ( roucoule f hennit)
4. AuThéltre-Francais on jouait une comédie de ..................... :
MY ( Balzac / Moliére )
5. Les Vincent habitent a Paris dans un quartier tres .................. :
( nouveau / ancien )
6. On garde les chevaux et les anes dans une ........................ :
( etable / écurie)
719 e Ko . I .. a sonne chez les Vincent.
( Le facteur /Le telegraphiste )
8. Sui' la plage on peut voir ............coiiunien. :
, | ﬁn. phare / des Pyrenees )
9. Leféininlﬁduporcest ........................... .. ( la truie / la vache)
10. M. Vincent est de nationalite ..................... LS 2

_[ canadienne / frangaise )

[ Turn over




b) Dites vrai ou faux :

8.
9.

o s w N

La librairie est la boutique rouge.

Le Champ-de-Mars se trouve au pied de la Tour Eiffel.

On tue des dindons et des poules pendant la chasse.

Le brochet est un pain.

. La chevre a des cornes pointues.

e ——— i

On peut acheter des timbres au cafe-tabac.

Le maire porte son écharpe tricolore.

10. L'entree des chiens est permise dans la poste.

'¢) Complétez les phrases suivantes :

- .
2
3.
4

5.

Les signaux verts .......... . L .. tout en marche.
L:éléph,ant R ol I A . '
Bne .00 2. .0 oo, 5 I'eau de Cologne @

Lk Il. COUPE .jioimsiioistmanppannns les cheveux noirs.

COMIME ..o vonearanuonavonns est pur et calme !

II. ‘Traduisez en anglais :
a)  Puis, on est allé a I'église du village pour le mariage réligleux. Les deux

10

2x10=20

VT A
:poux ont enfenclu_ la messe. M le oure, Mﬂhé Dllﬂl'é ) fﬁﬁ ﬁllﬂ&l Un D@m

discours. Enfin, vers midi, on est revenu a la ferme. On marchait a pied,

derriere des musiciens qui jouaient de vieilles danses : en t€te venait la

mariée donnant le bras a son marl ; puis M. Lefévre donnant le bras a la

belle-meére de sa fille, ensuite le pere de Jules Lambert avec Mme Lefévre,

les gargcons d’honneur avec les demoiselles d’honneur. Les autres invites
suivaient en chantant. On est entre dans le hangar decoré de fleurs, ou le
banquet était servi. On a-mangé beaucoup et longtemps. Puis on a dansé
toute la nuit. g '



III.

IV.

SV e e

3 ' 4007
b) Vous etes etranger ; vous voulez rester quelques mois a Paris : alors vous
aurez besoin d'une carte de séjour. Allez a la prefecture de Police dont les

bureaux sont dans la Cite. La, vous trouverez toute la famille Vincent, qui
attend devant un guichet ...... 5

Enfin, c'est le tour de M. Vincent.
“Avez-vous votre passeport ? dit I'employe. Vos photographies 2"

M. Vincent donne ses papiers et I'employe ecrit : Vincent Frangois, ne le
10 aout 1925. :

11 léve la tete et demande : “Ou &tes-vous né ? — A Montréal, Canéda."
Lisez le texte suivant et repondez aux questions : : 10

L'apres-midi quand on avait déjeuné, on allait avec les vendangeurs dans les
vignes. On cueillait gaiement les grappes blanches et noires. On suivait le
chariot plein de raisin jusqu’au pressoir. On buvait un peu de vin doux. On
visitait les caves pleines de gros tonneaux et ou les bouteilles de Champagne
vieillissaient lentement. ' ;

Questions :

1. Que faisait-on l'apres-midi ?

2. Que voyéit—on dans les vignes ?

3. Dans quoi po_rte-t-ori le raisin au pressoir ?
4. Que visitalent-ils ? :

5. Qu'y avait-il dans les caves ?

Faites des phrases completes et traduisez vos-lphrases en anglais ( cing au
choix ) : ' : : 10

1. par coeur

faire le marche
vouloir dire

au milieu de
autour de

au pied de
derriere.

[ Turn over
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4

Répondez en francais a cing des questions suivantes : 10
Que fait la serveuse ?

A qui Pierre ecrit-il ?

Pourquoi Polka aboie-t-il ?

De quoi sert.-on pour lire ?

Pourquoi les fauves ne sont pas dans les cages ?

Le Louvre, qu'est-ce que c'est ?

Quand vend-on des ofseaux au Marché aux Fleurs ?

e S o 2

Ecrivez en francais une dizaine de lignes sur un des sujets suivants : 15
1. La féte du village. |

2. La chasse et la p€che a la campagne.

3. Une visite au zoo. |

Traduisez en anglais : - | . o 10
Les Francais cultivent beaticoup les sports, surtout depuis la guerre. Presque,
tous les jeunes gens font partie d’'une societe sportive ou aﬂﬂéﬂque. Sous

I'influence de I'Angleterre et de I'Amerique, la culture physique occupe
maintenant une place importante dans les écoles et la vie fraricaise. Les jeunes

 gens jouent au football, au tennis et & d'autres jeux. Ils s'exercent a la course, a

la natation ( swimming ), au canotage ( canoeing ). Dans les lycées, on apprend
surtout la boxe ( boxing ) et I'escrime ( fencing ). '




Register
Number

4014

Language - Part A — FRENCH — Paper II

( Grammar and Translation )

Time Allowed : 2 ; Hours l'

II.

Choisissez la meilleure reponse :

) (S IR E 1 A . ecole est grande.

2 HUS e partis hier

= T R ... printemps, il fait beau.
A, T VA s brimes :

6. Que!le comedie a-t-1l .......ceevuennnenenn s
Tl B inns arbre est en fleurs.

8. VR i ionsdnontne gros livres.

9. Dema.ln. Hle T ‘douze ans.. ]
10. 1l est cing heﬁres et :

Ecrivez le contraire des mots :

lourd ; bon ; derriére ;. avancer ; vite.

[ Méximurh Marks : 100

10

( Cet / Cette)

{ sont / ont)

. (Au/En)

( rein / personne)
(es}as}
(tu/iue)

( beauw / bel)
(des / de)
(a/aura)
(demi / demie)

5

[ Turn over
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- III. _Grammaire ( Exercices du livre ) ;

i

B)

Q)

D)

£ I S S B

Mettez au pluriel :

1. Le vitrail cst beau,
2. Elleaun ceil gris.

3. Une grande maison.

4. Mon nouvel habit.

5. Un vieﬂ escalier,

Mettez a la forme interrogative ( avec Vinversion ) :

1. - Mme Vincent lit les journaux.

Les trains entrent en gare.
Nous faisons des signes amicaux. :
Vous avez fait un bon voyage.
Tu reconnais tes amis.
Mettez a Impératif ;

1. Tu regardes la Tour Eiffel.

2. Nous montons dans le taxi.

3. Vous dites votre nom.

4. Vous vous arrétez sur le quali.
5. Tulisle jouﬁml. |

Mettez au passe récent :

1. 1l demande I'addition.

2. Is entrent dans un'.resfaurant.
3. Elle commande le repas.

4. Tusersle fhé.

5. IIs font une longue promenade.
Ecrivez I'heure :

. 7-25; 5-15;.8:30; 10-00;: 12 noon.



Iv.

G)

1.

2
3
4.
)

Mettez au futur proche :
1. Elle envoie des lettres.
Tu dors dans ta chambre.

L'aveugle suit le chien.

2
3

4, 1lvoit le tableau.
5

- Nous buvons du café.
Ecrivez au feminin :
ancien — carre — blanc — vif — le neveu.
Mettez au passé compose :
1. Le garcon ouvre la porte.
Il veut le crayon.
. Nous savons le francais.
La fille tombe de i‘arbre.

e

5. Eﬂe ehtre dans la maison.

Trouvez la question :

n est dix heures quiﬁze-.
Elle s’appelle Kirouba.
Ma voiture est bleue.

11 fait beau.

Il est a I'ecole maintenant.

Traduisez en frangais :

L

s U

How pure and calm the air is !

No smoking.

The parish priest has made a small speech.

The harvest has been beautiful this year. -

How tiring this metro is !

4014

10

10
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VI.

VII.

o » ow N

Traduisez en anglais : : 15

Le maltre d'une petite école de campagne dit un jour a ses éleves, “Il y a quatre
saisons dans I'année : le printemps, I'éte, I'automne et I'hiver. Au printemps,
tous les prés et les buissons ( bushes ) sont couverts de fleurs ; en été, il fait
tres chaud, on récolte le foin et le blé : en automne, les fruits murissent et les
feuilles deviennent rouges et jaunes ; en hiver, il fait froid et les champs sont
couverts de neige. Eh bien ! Jacques est-ce que tu m’écoutes ? Leve-toi petit
paresseux et dis-moi quel moment il faut choisir pour cueillir les pommes ?°
Jacques répond sans heésiter : “Le moment ou le fermier est dans la maison et
ou il n'y a pas de chien dans le jardin.”

IJoignez la Partie ‘A’ i la Partie ‘B’ pour faire une phrase complete : 10
A ' 8 S
1. S'ilvient a) nousne sortiror.ls.pfas ;
Iis entrent ~ b) sortant de I'église
S'il pleut c¢) en courant
On voit les deux epoux 'd) nous mm

Il est tombé ' e) en chantant.
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Register
Number

Language — Part A — HIN:DI — Paper1

( Poetry and Prose )
Time Allowed : 2% Hours ] [ Maximum Marks: 100
YR - A
( T=& T )
=1 4 | el e =t e SN 1x5=5

1. ﬂ'{lﬁiﬁﬁ,ﬂﬁ@ﬁﬂml
HRpl 1 fre o, - € ur

2. ewn fw wwfa fom, =0is = faofa wem |
fog ot <l s ), R @ IF =m0

frm B 3 B G e S S | e
N e ——

wa-faEr @ 8 R,

o ot W &, T

IHH VNI D |

s gaRry o, O
M- S AHT-9R
forg qua T w1 3R W
¥ fanfea wom TR |

5.  MRAHE % TR0 T BT ST e § ?
YR I A STF AWM ARE TR |

[ Turn over
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i ¥ Q et T v W SR fafe 1x15=15

6. drem
7. dferg T W
8. R EE |
( e W )
9. IR g wW ¥ frel @=L = fafae : (v A fafaa A9 A B ) 6
frfafes § F fret Te T = @ RN 1x9=9
10, TSR TG wovererarassssssoeses g R | ' - |
11 TR evereevereneesens oy e ?
U - |

_ (T uET)

i & @ ol Qi Ul & i SR SN ¢ 5x3=15,

12. T fadsrcsh o1 SAqE W = oa ?

13, T THE @ ANR S-fY & wA @2

14, Soga ¥ W T fagrd A w0 Q@ ?

15, fEoR ya T R 2

16. mﬁ%wwmwwm?

7. Wt FEa € 2 '

18. WA F /Y H g T e 98 ?

fiefafaa § @ feedt e e & faga s G 5% 5=25

19, @mieh ¥ ord oY R e v @ AOn w =l @ 2

0. e S T @ v P e orid 3 T e 2 SAw G ) RbE
o ? |

21, URER % @M w0 fagd 3 w7 fean ok 9o w1 % ?

2. el g3 = fawad s ¥ 2



3

23. 93 Toar & g & v @1 faewo g |
24. TUE I 9% W 9gM HQ 2
25. wifeR ¥ gAY F HQ faem ?
frefafas o ‘adt’ @ ‘wem' €, fafa
2. foaergs 1 571 gag wel & gen w1 |
27. sty ot geftslt & s ok daw &
28. <fiolt ya ¥ %% ¥ 9% T Tt €
29. 92 faaR 7 9fed =1 w9 sen |
0. Y- Freffa @R ¥
Frfafea =i gafea S
31.  SEdl g B &) TR A
32  quinrEh & sie @) TR
33 I AHER M) A8 HE
3., o™ “-‘-l) - Aifew A
35 WH ®) fama v
= 3§ @ el atar S ol forae ol & s wam #ifo :
3. ) e

) waE

%) Fﬁlsﬁ

%) fasm s

3) IR T

%) Truen

- ) faum
T) fewrem |

S5x1=5

Sx1=5

5x2=10
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Register
Number

sps Pailude / SOCIAL SCIENCE
( Tamil & English Versions )

Griyid : 2 5 e ] [ Gures wduGuass : 100

TimeAllowedzzéHours] : : + [ Maximum Marks : 100

u@d) - 8| / PART - A
(wuGueaet : 30 x 1 =30) / (Marks : 30 x 1 =30)

efloy /Note: § ugd ‘S aSk‘u @ULg aleTéae 2_efene.
: Part - A consists of 30 questions.

) S@ass AamsaErseh oL SHS.
All the questions should be answered.

i) @aQaurp alamalped @ LHLCLE.
Each question carries one mark.

sfurer efoLomus CoibOBEssMD :

Choose the correct answer :

1.

uburews Smwentt uflersl Qubp FSaTLTD sTTeey WeTHS @sﬂmgﬂuﬂe&r.grr@

a) Upreev  b) swQuuiles d @udlerpg d) Gurtéssad.
' King Charles II got Bombay as dowry after his marriage with the Princess of -
a) France . b) Spain . ¢ England d) Portugal.
®ss oot Curflé par o0 CarpaysaiL GLb | |

a sGeTeyt b) Qsfsb - ¢) wran d) uretorg&Bel.
In the first Mysore war Hyder Ali was defeated at

a) Thanjavur b) Chengam c) Mahe d) Pondicherry.
@urest Qe sflumh Yy Alle FAULL G |

a astra's’rgfr : ] b) wsdu QpSur

¢ eu&lerm. | d) Gléved..

Rani Lakshmi Bai led the revolt at

a) Cawnpore b) Central India c¢) Lucknow d) Delhi.

[ Turn over
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4.

uCqué I-g ulgwed I 2 L& Qurpsss :

A)
B)
©

utigwe I
Qe @ el & blumis
alévedlwid Quiesorg b
Guei svefGloes

D) reQanersdl Sy
Match List I with List IT :

A)
B)
G
D)

List I
Rani Lakshmi Bai
William Bentinck
Major Sleeman
Lord Dalhousie

siflurer el ows Coiey QFis :
Choose the correct answer :

a)
b)
c)
d)

ucguéd I-gg ulguéd I 2 L& QuUTBSHES :

A)
B)
- C)

A.

4
2
1

3 .

B C D
2
1
3

= N >
b W =

uLguwe I

Qpeneo. sLLD

Sevong L LweosTid

Qglafibs

D)
Match List I with List II :

A)
B)
C)
‘D)

MW G-

List I
Rowlatt Act
Dandi March
Jai Hind
Simon Commission

sflurer ol owg Cotey Ces :

Choose the correct answer :

a) 5
b)
c)
d)

A

o N Wb

B C D
3 2 1
4 1 2
1 3 4
1 2 3.

2.

2

Bate O3 (G

S 02 oD

. a8 I

s G0, Mg bt

uCgwev II -
58 gfiy
SUTE (P
gresrélllesr ez
SE&HTHET.

List I

Abolition of Sati
Postal system
Queen of Jhansi
Thugs.

u&q;mé_o 1

- arhSlgl

Cpered
1927
1919.

List I
Gandhiji
Netaji
1927
1919.
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6. ulguée I-g ulguée I 2.1 & QUIGSSS :

ugué I uCigwé IX
A Hrwd algue &l g 1. 1985
B) e&nmié 2. 1996
C) wguGurm 3. g.nr. soulldr wee
. Quede seeeurt
D) egyre Cariur@® 4. yGsrevaralwr.
Match List I with List II :
List I List II
Al  Mrs. Vijayalakshmi Pandit 1. 1985
B) SAARC 2. 1996
C) Tito 3. First Woman President of the
U.N. General Assembly.
D) Gujral doctrine 4. Yugoslavia.

sflurer efleon_eows Caiay Clsls
Choose the correct answer :

A B C D
a) 2 4 1 3
b) 4 2 - 3 1
c) 3 1 4 2
d -1 3 2 4.

7. sflurer sapeons Coitey Qs : ( Epsacaapdled gy v GGw sflwrer sadp) )
a) 19-b gropremgs Ghdufler G 2 L el oL goib aupssd @eeroell®bas
b) afléedlud OQuabngs Uyyeflér o pefllert st  semraufler fHeopiiéd
2 LatsleoLCup) ers sULTWILESSLILCLTT ‘
¢ eLeasloL b Lpsesdibe adlyrer slLb 1829-6 GubplurL g
d) @grer groCurasyrl sy elLsos T HBTI.
Pick out the .correct statement ( only one statement is correct ) :
a) During 19th Century Sati, the evil practice was not found among Indians
b) Lord William's relative was forced to die with the funeral pyre of her
husband
¢ Law against Sati was passed in the year 1829 -
d Raja Rammohan Roy was against the abolition of Sati law.

[ Turn over
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8. sflurer sapeps Coitey Qals : ( SpsacuLaupile gy wGCL sflurer saby )
a) 18786 QuppuulL ewLry Qumflaer slLb usdfléossarse &ahdlyd
Siellésgl
b) 1905 eutisl: INelleear 688 Qussn Caream auflouesss
c 1878 UpudsstulL usé sLib @bSurearse usd addlGss
Si@iFlusiisss) _
d &Cs8 Qussd QeusfipT QU QUTGL &HeneT euyGaupDSI.
Pick out the correct statement ( only one statement is correct ) :
a) Lytton's Vernacular Act of 1878 led freedom to press and newspapers
b) Partition of Bengal, 1905 leads Swadesi movement
c¢) Indian Arms Act of 1978 permitted Indians to keep arms
d) Swadesi movement welcomed foreign goods.
9. eflurer smperps Cairey Qelie : ( Spsszorcubile gery L GCL sflurear saby )
a) dfluev b erpdleows Qurpss Wy Haurards Qeradmy®mhs cutiddler
NesrCGs i L srGsreren _
b)) @hdu Csélu Grremusdler mrerdl @yrent Grib Qubdlmbart
c) Qe sLLb Bgaurdlesmer allfsoma Qelu auams Celizs
d Ogemye Lwi om sy, _
Pick out the correct statement { only one statement is correct ) :
a) Cripps plan is a post-dated cheque of a failing bank according to Gandhiji
b) Jhansi Rani made her place in Indian National Army |
c)J Rowlatt Act permits the moderates to set free
_ d) General Dyer was a Viceroy.
10. eflurer smpeops Coirey Celis : ( Spsacmapie g wiGCw eflurer spp! )
a efCeaurgur Quésd Grrorgdurd S ybllssiulL gl
b) 1950-b y&o® eserppHBprit slLib QaTI( auFliulLgl
d yllgrer Quésd 1951-b @ ésriur aflGarmururGeaiwme
< yollSs0ULL g
d Gersrfl sealé@uw 1960-6 HublésiulL g
Pick out the correct statement ( only one statement is correct ) :
a) Sarvodaya movement was started by Rajaji
'b) Disabilities Act was passed in 1950
c¢) Acharya Vinoba Bhave started Bhoodan movement in 1951
d) Kothari Education Commission was appointed in 1960.
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GamglL @GLisoen sflurer alloL Carea® Blyuys :
Fill in the blanks with the suitable answers :

11.

12.

13.

14.

15.

QuETsEEHE sweaHlub CUD aEE QEWYD ELLD «ooorrreeaiaeene 24 G0,
Equal remuneration to women is ensu_red by thelin tont ot ok y

@pdurales sHCUT@SW GIOETH GQUIES ST oovoeneerencenes o
Vice-President of India 1S ....cccccceeeevunnnee

P T T R ap QLide sigmller Hleoaud o diarg.

The Atomic Power Station in Tamil Nadu is at .....coceeeeeevnnnen. :

2y eppiilet UsalESTOD CUTSIOITS ..oorerieireiiins 2| @ (& eTT Gid.
The tenure of the Governor is normally ............ ot years.

Catash ymeamureniseiear &g .......: e T BHLS HEHEES FDTTF.
The status of Election Commissioners is equivalent {0 .........cccccveeenes judges.

sflurer elleoows Coiray Qels :
Choose the correct answer :

16.

17.

18.

wTHle SenésTamald Gl sensveaurt

a) @bt b} pseennssit

d slLuCuyereusd seneveurt , d) 2 6TgiemD MDEST.
The State Council of Ministers is headed by the

a) Governor b) Chief Minister

c) Speaker d) Home Minister.
@bdus Carss yeamammud G :

a) espdyorer oLl b) sl liyfer 2emoly
) seluri Sl _ d} Oung Blpeusio.
The Election Commission of India is a/an

a) independent body b) statutory body

c) private body | d) public corporation.
2Cflss pédflu priige 2 der @guyflow awams

a @ulers eyyflewn b} ghens Gyuflon
) wrileé Gyuyflew d) Geubmst ergiapficrene.
In U.S.A. there is

a) dual citizenship | b} one citizenship

c) state citizenship ~ d) none of these.

[ Turn over



19.

20.

21.

22.

6
st o1 rsd oflaid 2 erer siQleueh
a Uybwysdyr swleuef b) shewss swbeuef
¢) Garsreufls swbleuef d) sraliflé swbeusf.
Highly densely populated area is
a) Brahmaputra plains b) Gangetic plains '
¢} Godavari plains d) Kaveri plains.
Guunse Syanysdlar Cupeluedllle sremiu@b srHselr
a wmélload ar@ssr b) @eeydli sr@essr
c) L& : d) usew LIPTE STESET.
The forests in the western parts of the foothills of the Himalayas are
a) coniferous forests b) deciduous forests
c¢) Taiga ; d) evergreen forests.
&y 2 pusié Gihduraler el ib audléE wrblen
a sdppr@ b) =gt GyCssid
c 2580 dyCssbd d) waryTeygFD.
The state which tops in the production of sﬁgarcane is
al Tamil Nadu b) Andhra Pradesh
c) Uttar Pradesh d) Maharashtra.
uCgwe - utgud II o Ler QuUrEsgs :
U gwe I i ucqueé II
A sl 1.  Cuhe amsrerd
B) Opa 2. &FpTL&D
C) puurf 3.  <ypdly IyGsen
D) ysvsleoe 4. Gayenr.
Match List I with List II : ' '
List I List II
A) Coffee 1. West Bengal
B) Paddy 2. Karnataka
C} Rubber 3. Andhra Pradesh
D) Tobacco 4. Kerala.

A B C D
a) 1 & 3 2
b} 2 1 4 3
c) 4 3 2 1
d) 3 2 1 4.

siflurer afle_cowsd Coitey Cleds :
Choose the correct answer :



23.

24.

A B c

&) 1 3 2
b) 1 7: NP
c) 4 2 1
- d) 2 1 4

ulgwén I-gp ulgué II o Lt QUTGBSES :

uCgwe I

A)  sPPls wesabsTOS

B) Ulswrer wsssbsTans

C) ©onhs L&EO\BTEmS

D) <fls uredar alldlad
Match List I with List II :

List I

A) Highest population

B) Moderate population

C) Low population

D) Highest sex ratio

sflurenr efleoLeowg Cziey Clews :

Choose the correct answer :

ulgwé I-g ulgué I 2 et QUT®BSSIS *

ulgué I
A)  ugly eribg

B) e&aps yaiafll eleughisei
C) elermiuiquied
D) uleLuuLb

Match List I with List I :

List I
A) Spatial
B) Social data
C) Schedule

D) Bar diagram

wwwsy

eflurerr elleoLeows Csiiey Cleis :

Choose the correct answer :

A B C
a) 1 4 3
b) 4 3 2
c) 2. 3 4
d) 3 2 1.

LAY

o

2

A

uCigwe IO
sOPETE
2 $8lrt y@seid
Cagenm
SieenmiD. 7

List II
Tamil Nadu
Uttar Pradesh
Kerala
Assam.

utgué II
aflersat_kiser apeud
sreorSigsc
@Qhslurellst @upens el
BeTSQSELY
Criréaremey.

List II

Graphical representation
India’s physiography
Census/Samples
Interview.

[ Turn over
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25. eflurer sapeops Coirey Qs : ( Egg)éaaaGﬁle_Gl.ltbgﬂéJ gsn Ll ECwL sflurer sapp )

a) @gﬁmmﬁlaﬂ e Garhphse @Gy sraslL 586 L@SI.II'I'GOTGU)QJ

b) Susbu QhHurale preéTE LSBT e 2 ararer

o s&ereo JLyd Cupe Crréadu sfaews

d) emTHUTT LS WSULPELWLITET WYL NS 6T

Pick out the correct statement ( only one statement is correct ) :

a) The land features of India were all formed in Identical period

b} Four mountain hili ranges are in Peninsular India

c) Deccan plateau slopes towards the west

d) The Satpura mountains are very ancient fold mountains,

26. sflurer eapeops Caite Geis : (Spsacoanile g v @G sfurar sabp )
a @urgavsraile usbsTauhseT &HTaOLLGS dTDeT
b) 2500 Lw;rﬁgf,]ﬁ)@@wé: Qeutiud Blas@apey
c) udif spHdl eop waTaxilear 2 jsgaETmvOL G)Psss CeLdps |
d Qubesesd sTarhss Lelgame o BeuTsaiL@H@ipe.
Pick out the correct statement ( only one statement is correct ) :
a) Evergreen vegetation is found in Rajasthan
b) At heights greater than 2500 metres the temperature is very low
c) Crop rotation leads to losing of soil fertility
d) Natural vegetation is cultivated by human belngs.

27. esflurer empeops Coiey Qels : ( Epsacoi_eubde gem w GG sflurer sapp) )

a @bduraile Qgrhibermesenses Csoaurar walQuTEBLsaildr Uy
Fyre sreuLu@SDs .

b) gflLsdler Qsrfle waCappsdhe sésTuQUIGLsala 2 pusg
wsPusgaib Qupaldame

c uwly flessf sflpprige QpuCaditie CalyQuissiu@dape

d sfpprige Quybugrie surfissiu@b Qe agddraer Quut Quppeey.

Pick out the correct statement ( only one statement is correct ) :

a)  Resources necessary for industrial development in India is even

b) For industrial development production of raw materials are not importaht

¢) Lignite is mined at Neyveli of Tamil Nadu _

d) Railway engines made in F Bi'éamba:ii.lr of Tamil Nadu is quite popular.
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28. aflurer sapeops Caiey Qels : ( Spseaoeupdles sperm vl GG sflurer enbmi )
a w&saOzTEsa SurliuoLta @hdHur e meug Quiflu BrLTED
b) w&esaQsresl Ydalafllaughser 5 HSTHEEHES @ GWOD
5601 & &L LUDSlETD S
0 elLmeug Dbsrads Sisdler wedu Crréshd 2 amald saraflopey SyED
d @phdurale Caperraligre yamaameanal. CUTHE GaDay.
Pick out the correct statement ( only one statement is correct ) :
a) India is the second most populous country
b) The population Census is taken once in every five years
c) The Eighth Five-Year Plan’s main aim is self-sufficiency in food
d) InIndia, only in Kerala the women are lesser in number than men.

Camgl L @ hisemenr sflurer el Qarao® Hliylis :
Fill in the blanks with suitable answers :

29. ‘ST GTUIR’ .ioveeererriiieerieenienn prflesdle RSDS.
The ‘Palace Train’ plies In ........ccccieieveienennns state.
0. SEGDUIG onursonriossionmmmnissass gD @efllys e53 QBmelaTnE.

Sweet ingredient in sugarcane is known as ........c...cceiieinnnnens

ue$l - g / PART - B
( wluQuetarse : 10 x 2 =20) / (Marks : 10 x 2 = 20)

&pluy | Note : ) eperppl usdllliehs prare alarssed, Gy ewullud
uedlldmhe Grear® alarésesb, yaltlud ugHdleEhs
preére eflarssad CsthOsBss OCuorssd udg
s sEnse elowellésa.

Select any four questions from History, any two from Civics
and any four from Geography. Answer ten questions in all.

i) Speauph Sadg NaTTEHEHEGD HHESLTET ool HHe.
Answer each of the following questions briefly .

iif) eréver eleITHHEREGD WELGLTTTSHET S,
All questions carry equal marks.

urerp ( aoaCugib prarg allamésense LL@Eb alor sHs )
HISTORY ( Answer any four questions )

31. SHsTL@ alyt aein SyePsslLGUaT wTT ? geT Sjelaumy S P&HSHULLLTT 7
Who was known as the Hero of Arcot ? Why ?

[ Turn over
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44."

45.

10
1857-b 4@ pbs Ly-Sliflesr 2 L ey smyewrd wrgl ?
What was the immediate cause for the revolt of 1857 ?

ateer Nyyeler aleusnw Frdeosnsen LTl 7
What were the agricultural reforms of Lord Curzon ?

@pdu aurflaflews sl b s@b 2 e eredtent 2
What right is given by the Hindu Succession Act ?

AW LWDTHE TSTPTE eTedTe ?
What is meant by privatization ?

sriLreneu ( SAPTA ) allfleurées.
Expand SAPTA.

Sgovilud (aaatugd ot elemésense WG oL 5GBS )
CIVICS ( Answer any two questions )
Sal" L& eredTpTey eredTest ?
What is meant by Federation ?
2 LUGsTH6 eTepTen eTedTeT ?
What is meant by mid-term poll ?
UTEHGHTETT SjeLwren L blenet aphGasl w7
Who issues the Voter Identity Card ?

yellllué (aoaGuaid prarg elaméaense woGb oL, 8®s )
GEOGRAPHY ( Answer any four questions )

guapu Gpdurele uryd piGeT WTeal ?

Name some of the Peninsular rivers of India.

Dpé sPpemsT g F Gl QRISETTS WTDISSIPEsT ?
How do the deltaic areas change into marshy or wetlands ?

Qidurale afenemyd 2 eorey’s it eel wreme 2

What are the food crops grown in India ?

@pduralen yHu Cadlu sdailés Q&mefrenaulle @gﬁlééﬁneﬁma% wrenel ?
What are the aims of the New Education Policy ?

S HTLIg.6bT HLOWSHET WTeme ?

What are the responsibilities of a nation ?

yereNaleuy Ceafliflener alené@e.
Discuss Data collection.



46.

47.

48.

49,

50.

51.

11 3832

ug$ - @ / PART - C
( wlIQuGssTEsT : 6 x5 =30) / (Marks : 6 x5 =30)

&oliy | Note: 1) eador alamssepssh aloL 56s.

Answer all questions.

i) eréver ell@TTéHEERSGD FwLTET WHLGLEGTSHET.
All questions carry equal marks.

i) @m@surr@ Gxﬂsmrraﬂgum syLUL HeiTer  LTHDI aﬂemnaﬁs!ﬂé:

gCseib pemeNsE LD aloL walésaab.
Only@ong}) of'rD %’e alternatives in each question should be

answered.

2 udCaur @hdurald asalsb sib aassanaamen Bipealeri ?
How did the British establish their trading centres in India ?
; 2eevg [/ OR
e Nyuele Srdlpssnsamen allaré@s.
Elucidate the reforms of Lord Ripon.
19-b mTHpreTI® Faps sow FTFBHs QusshsaTTed FHULL eﬂmma;smm

auflosliu@sss.
Enumerate the effects of the social and religious ‘movements in the

19th Century.

2evevg /| OR
@mﬂwrmﬂsm Qeusflypey Qareimamu aleTéGs .
Explain India’s foreign policy.

2L @il siflarrrset, uaieer uTaea 2

What are the powers and functions of the Governor ?
gevevg / OR

@bdu Gyésaiedr o flowameanyb, sLswaaeand allaré@s.

Explain the rights and duties of citizens in India.

wslu o let Sl upHl erwsis.
Write about the structure of the Union Government
<yéavg / OR

wrile Cairae ymemusdler ey, uhdlomer allarées.
Explain the composition and role of State Election Commission.

@idlureller CareLsrab, gellfaran guips.
Compare winter and summer in India.

i eevg | OR
srhsmenl LUTgierss CoasmmgusesT Sauslusos allaébss.
How could we protect the forests ?
@bdluralles Camgeno ETGUS @Gmrpuﬂemsmu.[m AL ou@Ed u@uBseeTyD,
uedaaerybd uhH eleufl.
Describe wheat cultivation of India.

<evevg /| OR

@bduraler wasaTQgTams uyael ubP alifleurs aflauf.
Write elrborately about the population distribution of India.

[ Turn over
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52.

53.

54,

55.

. ugd -% / PART-D
( FlLGuetoraer : 4 x5=20)/(Marks : 4x5=20)

@fliy | Note: 1) edeor alamssepseb aloL s@s.
Answer all questions.
) eder alaTéEsEpsGh s WSS,
All questions carry equal marks.

@by, euogusdlé ( outline map of India ) L&Qaperd) dgyefien

g fliugdemer aorba SPe SpsacaL GLusmas GhIssaD

a) Oar&dler b) Cameur ©C)  préy.
Sketch the English possessions in India during the time of Dalhousie and mark
the following places in outline map of India : .

a) Cochin b) Goa c¢) Nagpur.

SpsaaiL Hlapéflamer srasGarigsd owsdlds

a @pdu spessiLb b) @permb 2 ewsl Gumt

o @hdu Csélul L 4 @pdlur urdlevgrer Uiflaleer

€] @pnHur GRrUTES AWM.

Draw a time-line chart for the following events : ;

a) Government of India Act - b) Break-out of Second World War
c¢) Indian National Army d) Partition of India and Pakistan
e) India became Rebublic. ' '

@bdu cusmguL sl Epsarenid gCaIb Getep LLED oy :
Draw any one of the following in the outline map of India :
a suspu @hduralet flasCamdpbd
Physiography of Peninsular India
b) Qpduraie Cpaealmenyd uggesr
~ Paddy cultivation regions ,
o @pdu Srafiures @bou wsd Qesdmea ey Q@ édw
SID(P&HBISEHLEDT . tTn
Indian sea route from Mumbai to Chennai with two important harbours.
gt aeflovurar eflarg Csreuiloas surt Qelg SGHe o erer Hymosde
%éaaﬂe&r soal, Caumaarivy sriuter gtz Ceaflsed aamiuel gurt
g5, - : : i _
Prepare a simple schedule of questions for collecting information on education
and employment facilities data in your neighbourhood village.
eflly : uTt@awpp wrEEuTsd aaruLsdle GLiascas ePlulll@s
sTLQaushel udle Sdal_bsoat upPlu ePluyss LLED awWs
Ceucsr@ib. wHpD sTesCarinped SdaurCp GPuysst LLED T
Goustor(®ib. .
Note : Blind candidates may be asked to write only notes for the questions
related to map and time-line chart.
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